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Thefigures in the margin indicate full marks.

Candidates are required to give their answers in their own words

asfaraspracticable.

Section-A

(Short Answer Type)

1. Answer any ten questions: 2x10-200

(a) Name two states of India where laterite soil is found.

(b) Write a short note on urban flood of India.

(c) Mention the male-female ratio in India as per 2011 census.
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(d) Write a short note on DVC.

(e) Name the state with highest concentration of tribal population.

)What are the factors of soil degradation in India?

(E) What is Industrial agglomeration?

(h) Name two main peaks of Aravallis.
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0) What do you mean by ENSO?

ENSOTCE ATtal1?

G) Define Khadar and Bhangar.

(k) Define the term Oligoculture

() What do you mean by SpongeIron?

(m) In which districts of West Bengal the Barind Region is found?

(n) What are the major rivers of Indian Sundarban region?

(o) Name the places where major mineral resources of West Bengal are produced.

Section-B

(Short Analytical Type)

5x4-202. Answer any four questions:

(a) What are the main reasons behind flood in lower Ganga plain in West Bengal?

(b) Briefly
narrate the population policy of India since Independence.

(c) Briefly narrate few features of agro-climatic regions of India.

(d) Define sex-ratio. What are the measures to control population explosion in India? 1+4=5

(e) What are the major issues of the regional development of Darjeeling Hill Region?

(Give a brief account of the distribution of major racial groups of lndia.
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Section-C

3. Answer any two questions: 10x2-20

(a) Bring out the features of evolutionof geology and structure of India. What is 'Deccan Trap?
8+2-10

6) Give an account of agro-climatic regions of West Bengal. What are the reasons behind

industrial decline in West Bengal? 5+5=10

(C) Discuss in detail the impact of Green Revolution in India's
agriculture

(d) What are the bases of
regionalization of India? What are the major environmental problems

of Sundarbans
region. 2+8=10


